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migd |MhE| 5 | KE (%Aﬁm)j ik
L4 i 4 504 65,100
L4 i3 4 711] 120,750
L4 i3 4 776] 182,700
L4 i3 5 526 53,550
L4 i3 5 597 56,700
L4 i3 6 747] 149,100
24 i 6 761] 133,350
L4 i3 6 799 135,450
L4 i3 6 894| 205,800
L4 i 7 736] 136,500
L4 i3 8 417 32,550
L4 i3 9 782| 152,250
L4 i 11 610 49,350
L4 i 11 685 113,400
L4 i 12 760] 121,800
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migd |Mh4| 5 | KE (%falm)] &%

XHEF |E 3 742| 557,550
XHEF |E 3 814| 611,100
XHEF |E 3 847| 643,650
XHEF |E 3 956] 665,700
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24 |wmeles]| 48 | Gom | BEs
R i 50  100| 323,400 [AR
F2FER (M 51 96| 344,400 |{AR
TRBA i 53 80| 343,350 |k
FtER i 56 81| 262,500 |[{AMN
=] i3 70 83| 274,050 | EECA{ASL
PR | 80 75| 229,950 | & s A[{A4F
A& i 83 90| 270,900 | & sEE[{A4}
AIAE] i3 106 102| 246,750 [{AIN
= I 106 71| 222,600 | & FCAI{ASL
= Ji: 106 90| 253,050 | & ECAI{ASL
£z ij: 107 85| 239,400 |{A
=] i 108 93| 243,600 | EFDAI{ASL
A= i3 111 81| 164,850 | & &T al{A4}
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migd  |MRIB| E5 | KE (J%falng &%
M4 i 1 70| 219,450 |AIEF
ke Ji;: 1 67| 231,000 |AIEF
O 4+ F 4

migd  [MAA| 5| KE (%j‘falm)] &%
e i3 1 113| 334,950 |AIEEF
M = 1 302| 359,100 |AIEF
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migk  [MAB F5 | KE (J%falng &%
me i3 5 427| 138,600
me i3 5 604| 288,750
me i3 6 464| 173,250
me i 8 570| 208,950
M4 i3 9 379] 110,250
M4 i 10 582| 287,700
M4 i 11 631] 194,250
M4 i 12 545| 158,550
M4 i 12 561| 184,800
M4 i 13 373 29,400
M4 i 13 534| 148,050
M4 i 13 578| 160,650
M4 i 13 655| 260,400
o i3 16 437 67,200
M i3 16 526] 116,550
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